

### 重回帰分析 / 一 (3)

$r_{1y} = r_{2y}$  のときの  $r_{1y}, r_{2y}$  と  $b_1, R$  の関係

共分散即

$$R^2 = \frac{r_{1y}^2 + r_{2y}^2 - 2r_{12}r_{1y}r_{2y}}{1 - r_{12}^2}$$

$$= \frac{2r_{1y}^2}{1 + r_{12}} \quad (r_{1y} = r_{2y})$$

$$r_{12} = \frac{2r_{1y}^2}{R^2} - 1$$

$$b_1 = \frac{r_{1y} - r_{12}r_{2y}}{1 - r_{12}^2}$$

$$= \frac{r_{1y}}{1 + r_{12}} \quad (r_{1y} = r_{2y})$$

$$r_{12} = \frac{r_{1y}}{b_1} - 1$$

$$D(b_1) = \sqrt{\frac{1}{n(1 - r_{12}^2)} \cdot \frac{1 - R^2}{n - 2}}$$

$$= \sqrt{\frac{1 + r_{12} - 2r_{1y}^2}{n(n - 2)(1 - r_{12}^2)(1 + r_{12})}}$$

$$r_{1y}^2 = \frac{1 + r_{12}}{2} [1 - (1 - r_{12}^2)A]$$

$$A \equiv n(n - 2)D^2(b_1)$$

$$t = \frac{b_1}{D(b_1)} = r_{1y} \sqrt{\frac{n(n - 2)(1 - r_{12})}{1 + r_{12} - 2r_{1y}^2}}$$

$$r_{1y}^2 = \frac{(1 + r_{12})T}{1 - r_{12} + 2T}$$

$$T \equiv t^2 / n(n - 2)$$

9.25.2019

